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1[Option ID=9597]

2[Option ID=9598]

3[Option ID=9599]
4[Option ID=9600]

Sl. No.101
QBID:5201001

The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i1) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table. answer the question :

City-wise Distribution of Sold Cars

Citv 4 Distribution of | Proportion of Car Models Sold

T Sold Cars P Q R
A 14.30% 1 7 4

B 16.20% 2 3 2

& 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

E 21.70% 3 2 5

3 aIftionT & &% Y631 A-F 8 A19fd DRI &1 981 @1 (i) U= (%) faaRon iR (i) 59 9+t 18 oI 8 A
TS P, Q 3R R &1 S9Td <RI T § | 37 WG § sl 715 BRI &1 G 1.1 90,000 T | AlCHHT &
HIFHST & SMYUR TR TY B JuR gIorg |

RER ([l TS BRI BT a0 9%) BT D R
P Q R
A [1430% 7 7 4
B ]16.20% 2 5 2
C  [1840% 3 3 4
D  ]16.80% 4 3 2
E  |1260% 2 2 1
F |21.70% 3 2 5

What is the number of Model-Q cars seld in all cities together?

31255
31355
31455
31555

Bk




(1) 1
(2) 2
(3) 3
(4) 4

T2t weRl © o e disd Q &1 &4l T3 BRI &1 = 1§ 2

31255
. 31355
. 31455
. 31555
(1) 1
) 2
(3) 3
(4) 4
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1[Option ID=13201]
2[Option ID=13202]
3[Option ID=13203]
4[Option ID=13204]

Sl. No.102
QBID:5201002
The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F

and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cité 05 Distribution of| Proportion of Car Models Sold

it Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 2 3

o Attt & ©% T6R1 A-F § O10fd RI &1 9811 &1 (i) U= (%) faaRo iR i) 59 94t 718 &Ri 8 3F
TS P, Q 3R R &1 S9Td a=NA1 T § | 37 WG H ol 715 BRI &1 G 6.1 90,000 § | Al &
HiDHSI & YR G FY B IR GIforU |

e PN BT S R
D Q R
A 14 30% 7 7 4
B 16.20% 2 5 2
C 18 40% 3 3 El
D 16.80% 4 3 2
E 12 .60% 2 2 1
F 21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

2184
L2204
. 22904
L2244
1)1
(2) 2
3) 3
(4) 4

YR D 3R YR E AP Alsa P PRI & &g BT TR 1§ 2

L2184
2204
. 2294
. 2244
(1)1
) 2
(3) 3
(4) 4
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1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
QBID:5201003

The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

- 04 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

e AIfcienT & B8 TERi A-F H A10fd BRI &1 =11 &1 (i) U= (%) Ao iR (i) 39 gt 18 &Ri 3 dF
TS P, Q 3R R & U <11 71§ | 571 M6 B &l 15 DRI D1 Hal G- 90,000 € | AT &
3PSl & YR TR U BT FR glio |

EY (@91 T3 BRI @I [Ga (%)

EERLEIEHEAE RG]

P

Q

R

14.30%

7

16.20%

18.40%

16.80%

12.60%

=l el =] Ee =1 =S

b | o ff 0 || B | 1

b || 2 || W2 || W

hffe=fra =] =

21.70%

s}

2

The number of Model-P cars zold in City D is approximately

City A

1. 145
2.185
3.83
4. 235
1)1
(2) 2
3) 3
(4) 4

% of the number of Model-R cars seld in

WER D ¥ [§@! AlSe p SR &1 G871 Wer A T 90! Aisw R BRI @1 W61 &1 @y fard= Hia=id (%) § 2

1. 145
2. 185
3.83
4,235

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13209]

2[Option ID=13210]

3[Option ID=13211]
4[Option ID=13212]
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv % Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% 1 7 4
B 16.20% 2 ¥ 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 G 5

e Attt & B8 TeRi A-F T O10f BRI &1 =01 &1 (i) U2 (%) [aaRor S8R (i) 39 946t 15 &1 5 3F
TTST P, Q 3R R BT 3UIT SR § | 57 XeRl H &=l Tg DRI I e HBAT 90,000 © | AP &
HIDHSI & HYR U Y DI IR ST |

X (&9 g @RI @I G (%) jﬂwqiﬁﬁ 1R

7

14.30%
16.20%
18.40%
16.80%
12.60%
21.70%

b | A [ W || B | 1

Sl =1k =
T [ b [ [ [t
Ch = [ ta | = t2 | =

S}

Number of cars sold in City F is approximately % more than the number of cars sold in City B

13
34
21
2N

ol

1)1
(2) 2
(3) 3
(4) 4

YER F 1 @] BRI &) G901 UG B T adl T3 HRI 1 e I T4 (e Ufa=id (%) s g 2

13
34
21
275

O

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13213]
2[Option ID=13214]

3[Option ID=13215]
4[Option ID=13216]
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (i) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000, Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv % Distribution of | Proportion of Car Models Sold
”5' Sold Cars P Q R
A 14.30% 1 7 4
B 16.20% 2 ¥ 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
E 21.70% 3 G 5

e Attt & B8 TeRi A-F T O10f BRI &1 =01 &1 (i) U2 (%) [aaRor S8R (i) 39 946t 15 &1 5 3F
TTST P, Q 3R R BT 3UIT SR § | 57 XeRl H &=l Tg DRI I e HBAT 90,000 © | AP &
HIDHSI & HYR U Y DI IR ST |

X (&9 g @RI @I G (%) e Y HiS el o1 ST
P Q R
A [14.30% 7 7 n
B [1620% 2 5 B
C |1840% 3 3 n
D  [16.80% n 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

19:5
27:8
2327
33:10

o

S Y

1)1
(2) 2
(3) 3
(4) 4

TeR ¢ H o 718 BRI 31 I 3R YR D § Aisd Q @ (9@ $RI &1 W01 & &g & S 1 8 2

19:5
278
237
33:10

O

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=13217]
2[Option ID=13218]

3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

. Move swiftly and get as close to the misbehaving student as possible.
. Ensure that there are several witnesses to the confrontation.

. Be respectful, brief but assertive.

. Use a loud voice to establish power.

1) 1

(2) 2

3) 3

(4) 4

o b
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1. T@TA UE TTER $- ard faemdf & gyt gvg e g1 o |
2. U8 G o b a1 81H & 99g 3 Aiaft 5 |

3. YHIFYde, Y& T U] Tearyde §1d B |

4. Qe RTYT B & eI Sl SATarsl &1 Ui &Y |

(1)1

2) 2

(3) 3

(4) 4

1[Option ID=13221]
2[Option ID=13222]
3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4, Procedural memory
1) 1
(2) 2
(3) 3
4) 4
STRIaT SO ot ORian 3 Ugd g9 3 UGTS! I ST ®R Xel AT | 98 IR a2 i 9X1 ave o ot of
| SR 7 319 o YR &1 17 I a1 8 S9H &9 & 3R S50 337 &1 Saxgedl 71 ol © | 59
Hichar &1 9 T 9 iy =0 1 @ S g 2

1. BiY-ged Wi
2. THH

3. WA
4. yisharers wfd
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Mateh List I with List IT :

LIST I (MOOCs Four Quadrant LIST TI (Component)
approach)
A |[Quadrant - I I |e-content
B. |Quadrant - II II. |Self-assessment
C.  |Quadrant - [T 1. |e-tutorial
D Quadrant - [V IV. |Web Resources

Choose the correct answer from the options given below :

. A-IIL, B-IV, C-1, D-II
. A-IV, B-1, C-II, D-II
. A-IIL, B-I, C-IV, D-II
. A-IV, B-1I, C-III, D-I
11
() 2
(3) 3
(4) 4

L S ]




Tail 1 1 g1 11 ¥ A Piferg

T 1 (G F IR UTS 3THATH) T 11 (TCH)

A |uEl L [g-eiddsg

B. [Oqm I [E-HdidA

C. [gm L. [3-cgeliad

D [dGQIv V. |39 gareE
Fafeiad fameal & 9 el 3R & =97 DI -

1. A-IIL, B-IV, C-I, D-II

2. A-IV, B-I, C-IIL, D-II

3. A-IIL, B-1, C-IV, D-II
4. A-IV, B-11, C-II1, D-I
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13229]
2[Option ID=13230]

3[Option ID=13231]
4[Option ID=13232]

Sl. No.109
QBID:5201009

Match List I with List IT

LIST I (Behavioural Models)  [LIST II (Developers / Redevelopers)
A [Mastery learning I |Carl SmithMary Smith
B G o Benjamin Bloom/James
Black
C. |Social learning III. |B.F. Skinner
D Programmed sc_hedule (task v |Albert Bandura/Carl
performance reinforcement) " |Thoresen/Wes Becker

Choose the correct answer from the options given below:

A-IV, B-I, C-II, D-TII
A-IL B-I, C-IV, D-III
A-IL B-IV, C-1, D-III
A-IV, B-I, C-IIL, D-II

b=

bt

1)1
(2) 2
(3) 3
(4) 4

el 1 1 Gl 11 9 T Biforg

a:q‘h (ETERTHS dieeH) qﬁurﬁmﬁﬁgﬂﬁﬁmﬂﬁ
[TTaToTa SHfeTH Tl T Y
ERtatkl L[S sgH S s <
grETSTE ST UL &l Uh. &R

(a0 SR el (@ | . [ dg I Ve
FSI1E UGG 1) T [EER

Fafeied fdeedl O U Ug! ST & 999 I :

A-IV, B-I, C-II, D-III
. A-II, B-I, C-IV, D-II
A-IL, B-IV, C-1, D-III
A-IV, B-I, C-IIL, D-II

o [o|w|>

W

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13233]
2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

Sl. No.110
QBID:5201010




Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement I is correct.

1) 1

2) 2

(3) 3

(4) 4

& e o o i

2 —

FY9 1. 6 T I w@ia & S e @afs B o 9 wa & dool SHE g TR0 9N # derar
A T

Yy 11 #Y 1 Tfa o5 w@fd ¥ 5 oRgeanst sgar Rl & gee & 9 & gaui & dow & HERuT @
Q- # Ferdd AR & |

3UTh @A @ 3Telieh &, e GT W faeheul & & Ha8 3Uh 3TR @1 T Shifald:

1. %= 13t na=t a8 §

[

T 1R n et g E

. FUE 1Y L e e L aed B

LV )

4. U= 1970d &, oifeheT U= I a8 &l
()1
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type I error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

(1)1

(2) 2

(3) 3

(4) 4




HYU [ afe 5o T Il UreheUs @ TR ag ¢ el 3edigg Gar SiET =T o9 g O% A9 G
¢ 5 sad asu 1 gfe & =T

FUT 1177 & U U Uidheuar o ITAHR R & Sdich 59 TR RAT ST WY, O9 & I% A
Tod t Fcad esm u g & ool &

UL U @ el A, A" T v faweul #@ § a8 3ugs IaLar Ta- Hile:

1. %y 13 naE aco ¥

=)

e 13k naEt s ¥

3. %Y [9cT &, dfehd &ua I13EcT 1

4, U 130T &, ofehd HuaT I B
1 1
) 2
@3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.112
QBID:5201012

Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

MmO 0wpe

Choose the most appropriate answer from the options given below :

A, Band D only

.B. C and E only
3.A.Dand E only
4. C.D and E only

1)1

@) 2

(3) 3

(4) 4

gifefde TR @ 9" o4 & o 9§ 2 - ameda’l o1 wa [ s g 2

A cHfeT

B. 35
C. pIug

D. 3F'S
E. Bede

9 fau e fasedl § T e Sugad STk 61 99 HIfoIe:

ko =

1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]




Sl. No.113
QBID:5201013

Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

Inter-rater

Judgemental test

monw >

Choose the correct answer from the options given below :

1. A, B and C only
2.A,Dand C only
3.B.Cand D only
4. C.D and E only

(1) 1

2) 2

3) 3

4) 4

My H [ayg-igdn &1 719 & e 4 1 9 o7 faftal o1 wai feoar siarg 2

A, y@ar "aliia wloeed
B. Wi9-: & F

c. fayaars

D. JaFuRe EeRen)
E. g [oig &g

i feu e famedl § 9 T8l 3R &1 994 BIfoT:

1. BAdA A, B, C
2. $Add A, D, C
3.%ddB,C.D
4.%ad C, D, E

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=13249]

2[Option ID=13250]

3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.

1 1

@) 2

(3) 3

(4) 4




B EAIECRIE
PYT : t-CF DT IHI SUYE BId & o8 HITUd M3 =R Fefd &f |

DY 11 : P, THARR FIRTD! 61 ad R PGS B! G 1 TN PR Wb ed P o g DI
&g

IR HYA & AT 1, -1 3T T fadwed] T I Tl SR &1 99 SIfeid:
1. BUT I AR 11 & 9
2. BY SR I T S &
3. BYT 1 I 2. b HYU 11 3 B

4. PY G 8, AP FUT 1 I B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115
QBID:5201015

Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science. and MLA indexed journals.
Statement II : Open Access Journals are predatory journals,

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

1 1
(2) 2
(3) 3
(4) 4

EIEEAEAIE AU
BY I ToOI1-TTUSRE Gt & Wt W10y, 3 3 Wisy 3R THUaT oies oHd A ela & |
FYT11: Tad A SHa g oA s @ |
SIRIdd PYU B 3MTadld H, I 4y T fap et 7 T Hel S o1 90 Sifo:
L FYFIAR TG 9T T |
2. BYF SR A AT |
3. BYT 1 I 2. b HYUT 11 3 B

4. FYT I A B, W U 1 FA 2
@1
2) 2
@3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
QBID:5201016




The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

1. Stable identity

2. Social harmony

3. Positive public opinion
4. Stereotypes

(1) 1

(2) 2

(3) 3

(4) 4

@R 1 gayRonS, S5y & gRRI 3R gel d Bfadl & Ui 39 -l Siftd siyghmdl & uaR &1
frafafad o 9 = giom grar g 2

1. RR ugaH
2. rHIfoTS JIeTe
3. YPRIAT oA
4. Si¢aggar (EIRGIeEw)
)1
(2 2
3) 3
(4) 4

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.117
QBID:5201017

In mass communication the audience is:

1. Identifiable
2. Relatively small
3. Heterogeneous
4. Homogeneous
1)1
(2) 2
(3) 3
(4) 4

IR T g FeREa i e Ea g 2

1. SR
. 3UETHd BH = 1
fawmadl
ozl

S

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.118
QBID:5201018




The meanings of visual images depend much on:

Individual perception

Social perception

Political links

. Economic benefits

. Representational Connections.

MO QW

Choose the correct answer from the options given below:

A, Band C only

.B. Cand D only
3.C.D and E only
4. A, B andE only

1)1

(2) 2

3) 3

(4) 4

=g fiei & o PR A g Rl Rk a=a g 0

A. Jufdds Sy
B. THII® d1Y
C. Ioa® Jud (@)
D. 31 wgfaumg
E. Wiaie dey
i feu e famed] § 9 T8l 3R &1 994 BIfoT:

1.$dd A, B, C
2.$ddB,C, D
3. %90 C,D,E
4. PATA.B.E

(11

() 2

(3) 3

(4) 4

[

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

SI. No.119
QBID:5201019

Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement I are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement IT s true.

(1)1

(2) 2

(3) 3

(4) 4




e @ pyF fag e &

Y [ : TN BT DR THRIED Wdadl b 30 &I URd B bl ¢ Tt 39S GHRIAD THE 6I
S el fPaT S ghar g |

DY 11 : o §OR WA b Jod THIG - DRURE Tedi & 3= 1P WG4 BI YR B §UDT B
faarg |
SWRI P & 3fTciie H, 19 14U Y faseul 5 T 9el 9wk &1 98- DI

L. FYHF ARG 9T B

HYT I AR 1A SR |

HUYT IR, AP PYT I 3T & |
FYF AL, AT HYI I A |
1) 1

(2) 2

(3) 3

(4) 4

e L b2

1[Option ID=13273]
2[Option ID=13274]
3[Option ID=13275]
4[Option ID=13276]

Sl. No.120
QBID:5201020

Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct.
1y 1
2) 2
(3) 3
(4) 4

9 & PU= AT T §: TP SHAUD YT (Assertion A) T =9 § {710 & 1 GHRI SHD BRUI (Reason R) B
U

SHUGHYT A : Tsg] B & BT T P 1Y Dl Ga G HaTF el © |
HRUIR : GG Rl G0 a2l B SUFT 3R I DI GaH IHAG UaRi g |
SWRIT Y & 3 H, 4 f3u T fasedl & I 99 Iuged 3wk &1 90 Biford |

CAMRREAI T E IR R AT IS AR |
ASRR AT E, AP R, AT TS TR R © |
ATEI S AR TR ST ® |

AT IR AfrTRr EE B

@1

@ 2

@) 3

) a

b =

U S Y

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]

Sl. No.121
QBID:5201021




Find out the third common term between the two given Arithmetic Progression (AP) series given as :
3.7, 1,15; and 1, 6, 11, 16,

31
43
3.51
4,47
1) 1
(2) 2
3) 3
(4) 4
fgiferd & = o 31 <t et gaR 4oft (Tdl) & 99 JR 9= UE &1 i Sifod
3 TS e
3R

1,6, 11,16 .........

aes

31
43
3.51
4 47
1) 1
) 2
(3) 3
(4) 4

i

1[Option ID=13281]
2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]
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A person can do a piece of work in 18 days. After working for 12 days. the person leaves and another person

joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole
job?

20
24

29

18

b= —

L2

1)1
(2) 2
3) 3
(4) 4

WA TE e e sA T asa s  Rnidide el e s Iad B A P B oIS adl 8
AR GHRT G BT BT HAT YR HAT & aul U9 S &1 8 T T RIP ddl © | T8 GH1 oladd o9 IX
mﬁﬁmﬁﬁ?‘fﬁl{ﬂmw%?

20
24
22

18

-l

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]
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The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6.200. What is the annual salary of the manager?

1. 73,200
2.1,34,400
3.1,58,600
4.1,03,200




) 2
3) 3
(4) 4

fepft rafer & reied 25 4fiet @1 iad 307 6000 FUH TR § | 3fE S e &1 3a 2t s
e STl § <l 78 $f1d 6200 304 B ST § | WS P a1t de e g 2

73,200
. 1,34,400
. 1,58,600
. 1,03,200
1) 1
(2 2
3) 3
(4) 4

b=

S )

1[Option ID=13289]
2[Option ID=13290]
3[Option ID=13291]
4[Option ID=13292]
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In what time a sum of money will double itself at the rate of 8% per annum simple interest?

1. 10.5 years
2. 12.5 years
3. 9.5 years
4. 11.5 years

1) 1

(2) 2

(3) 3

(4) 4

D5 U A 8% Hidas AIHRUT <47 $1 &3 4 b wra & gt o) smaft 2

10539
12599
L0599

15Ty

(1) 1
(2) 2
(3) 3
(4) 4

da Lo D =

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one ata
loss of 20%. What is the net gain or loss to the shop keeper?

1. A loss of Rs. 1000
2. A gain of Rs. 1000
3. Aloss of Rs. 3,000
4. Aloss of Rs. 1,500

1) 1

(2) 2

(3) 3

(4) 4

Ll gHMERA gl a¥gsii § 9 U I 12,000 YUY H €41 | T U TE] Pl 20% P A UR &1 U5 SR
TE B 20% B B1 TR 941 | GHHER B o a1 TN 1 fbai g 2

. 1000 TUY BT §IH
. 1000 YT HT ATH
. 3000 YT &I B
. 1500 3YU &1 B1H

1) 1
) 2

[

[EEN )




3) 3
(4) 4

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology. and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true" ?

1. Slippery slope
2. Hasty Generalization
3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause
1)1
(2) 2
3) 3
4) 4
e gfta 5 3 1 sFraTe ah-ai § - It & defe Sifay & 3rdl o Wfsd a3 &1
Wﬁgﬁ'% 3R 3 I DIL oft Hft o el gan © | Sia: 5 Fspd FRaptamn =ifet i wifow & 2@
RIGAE

T aeHged gar (ol wi)
SHGaRT GrERiHRul

1
E:Wgﬁmmﬁﬁm
4. TRy

1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legged animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals,
4. All four legged animals are mammals.
1 1
@) 2
3) 3
(4) 4

?131%11@?{ gl ¥ ¥ frue! 50 Sy ¥ Ydaa: SHI-d 81 o Sl © - 9y T-uRT =mar ug]

1. it oy o WA § |
2. FI +ff T T I T R
3. T8 WAYR SUmET Y § |
4. i oy Uy AR € |
(1) 1
) 2
(3) 3
(4) 4

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]
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Which of the following statements is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

1. Some aggressive animals are not dogs.
2. Some dogs are aggressive animals.

3. Some non-dogs are aggressive animals,

4, Some non-aggressive animals are not non-dogs.
(1) 1

(2) 2

(3) 3

(4) 4

frafafad Syl § 9 BiF @ fafafad Sy & ufduialdd 8 - $ D afihH® Uy el 8 2

1@%?&1@@%
?WW%I%
|

5 @ﬁ? &Wm@?—ﬁ%"f%‘ |
1 1
(2) 2
3) 3
(4) 4
1[Option ID=13309]
2[Option ID=13310]

3[Option ID=13311]
4[Option ID=13312]
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Which of the following statements are contradictory to each other?

A. All objects are perishable.

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:;

1. Aand D only
2.B and D only
3. Cand D only
4. Aand C only

1 1

) 2

3) 3

(4) 4

T d T oH 9 $yT WaR Tl g 2

A TN TIBRE |
B. PO IR PR TS |

C. PO TGLTRE |
D. &S W ag R |

9 fau e fasedl ¥ ¥ gad Sugdd STk &1 99 HIfoie:

1.%ad A IR D
2. %ad B AR D
3.%ad C ARD
4. BT A AR C

1) 1

) 2

3) 3

@) 4

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4, Verbal Testimony (sabda)
(1) 1
(2) 2
(3) 3
(4) 4

Ud U8 H 397 g1 &1 o & fag 34 arieeiE gq Ue THari 3 97 48T | Rad YR O Jd &
SR Fafafed 3 3 39 & fog g &1 wam fem man g 2

W&
GUHMH

HIAH
R

O

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13317]
2[Option ID=13318]

3[Option ID=13319]
4[Option ID=13320]

SlI. No.131
QBID:5201031

Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. Aand B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

(3) 3

4) 4

A-cgﬁﬁa@ﬁaﬁﬁa‘ﬁ SV (3iiepRr) H ¥ S gad-Hid [Sfoed wiew & i w [l
BIAE?

A TTE 31 (Google Earth)
B. GI&fT (DIKSHA)
C. TS T (MySQL)

- fau e fowedl # @ el SR @1 99+ Sifve:

1. Had A IR B
2. FaAAARC
3. %aaB AR C
4. A B3RC

1y 1

) 2

3) 3

@) 4

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.

B. Centralization is a core tenet of Web 3.0

C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming
years.

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3.Band C only
4. A BandC

1)1
() 2
3) 3
(4) 4

39 3.0 & T A Fefaf@a syt a-o) HIFHITHE 2

A. 94 3.0 URIAS! (Ragida:) waiedl STel Ud dd [qsaw] &1 Wilddl &I Sudsd Il § |

B. H1oR01 3§ 3.0 BT A RIS © |

C. 4§ 3.0 ST AT Nl A &l o WR SA1Rd "edd ¥ YoIaeR SR ogau™ Hail-pald |
i feu T famed] § 9 T8l 3= &1 994 BIfof:

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement IT : IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement IT s true.

(1)1

(2) 2

(3) 3

(4) 4




EIECIE TR
FY 1 : S 3o S&Y (WWW) & MTDPRS [ e @ |
PUF L1 : 3TeUIdl6 (IPv6) Weidid 120 e & Medl Tod &1 uRUTNd Hars |
TRIGd Y & i 3, 2 Ru T fae el & ¥ 98l 9ok &1 99 S
1. BYA T AR G 9 |
2. FYA SR 11 & S B

3. ®YT 1 I 8, A HY 11 3T B

4. BYF AT 8, Ao BT 11 9 g
(1) 1
(2) 2
(3) 3
(@) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadsheet :

A B C D E F
1 3 5 1 2
2 2 3 3 2
3 4 5 7 2

What is the value of the formula = SUMIF(B1:B3, "=" & 3, C1:C3)

1.3
2.5
3.7
4.8
1) 1
() 2
3) 3
) 4
FFrafaRad v Sisgiic )R f[daR Sl :
A B C D E F
1 3 5 1 2
2 2 3 5 2
3 3 5 7 2

A : =SUMIF(B1:B3, "=" & 3, Cl:CS}WIﬂ:TfF:IT%‘?

PR D
G =] Lh T

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s true but Statement II is false.
4, Statement [ is false but Statement II is true.

1) 1

2) 2

(3) 3

(4) 4

TR FE e

FY [ TUH (SWAYAM) B! & Aed fEfed s &1 @rs & grea & g fRian darem iR
TSNS (SIUTIRT) gR1 fawd te wew & |

BYT L1 : GOl TR-Ab11oh] AITDITR (1M o [Ty WaH (SWAYAM) BT IV1Y U0 ¢ forgd ghfga
1 U 5 Fatad oaargu! [ASaawq &1 AT SR Ferii &1 5 |

IIRIGd HYF F 3Telies #, 719 U 70 fowedl § 3 U8l SR &1 997 S ifeig:
1. YT R 11§ B
2. FYT I IR 11 ST ST B

3. PYTIIT e, AT HYT I 3T B |

4. BY AL, BT HYT I I E |
1) 1
() 2
(3) 3
@) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :




gl & Sfdl SUGUS| Bl I gRT YR e A1 & §¢d pH H oIaieyd Hifeu |
A, Afeal 3R Sie- 4RI
B. il 5Tt 31 il
ok
Dgg\’ﬁﬁ%ﬂ
i feu T fomedl § O 5l 3= &1 994 S Iui:

1.A,C.B.D
2.C.A.B.D
B.A,D
BDiG

L

6
B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13341]
2[Option ID=13342]

3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true.

11
(2) 2
(3) 3
(4) 4

TR PERTTE
PYA I : TRUNAD] & 619 AT § FSL-BDHE (Ma) HR Ble-hars (I FEa g |
BYA11: PSI-TDE U saa-=id SR oaa-LiTd a1 Qe Siferd gidi & |
SRIF PUA $ 3fTaie |, 719 14U Y facedl T ¥ Iet SR &1 904 DI
1L BY ARG T T |
2. FYF T AR GHT 39A T |

3. PYTIITE, AT PYT I 3T ® |

4. PY T E, AT P I g |
1
() 2
(3) 3
4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement IT : Infectious diseases are likely to increase as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

1)1
(2) 2
3) 3
(4) 4

EIECAE ISR g

DU : 3D HHE! H il IR HIG HaURIAI G+l Seerd! sierdry o Ui Qe deer a1 sidad §
e el 8 |

PYAL1 : TS AT (A% a9 & URUMERG=Y epTHep 011 1 gl 1 HUIaI§ |
SIS B & MTeils H, A 14U T fawedt & 9 Iel STR &1 997 Fifo:

L. P ARG TAE |
DY T AR TG AT |

[

3. PYTIIT 8. AP HFYT I 3T R |

4 FY AL, AP FYA I TIE |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]

Sl. No.139
QBID:5201039

Major contributor to carbon monoxide emissions in metropolitan arcas of India is/are:

1. Industrial Sector
2. Domestic Sources
3. Transport Sector
4, Agriculture Sector

1) 1

(2) 2

3) 3

4) 4

URA & HeFTRIA &3 & e JH1aEs oo § UgE dreH [aal § 2
. 3iEnfie &=

IR

. givae &

Py &

B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13353]
2[Option ID=13354]

3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. Ais false but R is true.
(1) 1
(2) 2
(3) 3
(4) 4

1 &1 PU= AU T §: TP SHUD YA (Assertion A) T =9 H {710 & 1 GHRI SHD PRUI (Reason R) P
U

SHIHDHYT A : GEY STl b dTe-l § Ugad HIIRD-56 Sol-1] Bl 8155/l gg- & [’ sidpierd fbar
o Gl 2, BI5S I NH-3NUIRd g8 goi9 SYad: Bi5Sior Su- are- & 4w gt § |

PRUTR : WA U B ITIN Pl GU BTG oI ol Bl Ald [ded & S UiaRol AT S 38 ¢ |
IRIF FYA & A 1, g [SU ITE [amedl § I Yol 3R &1 99 ST |

AIRREAIIE IR R, AP TR AR |

A SRR EF G E, AT R, A P Ge AR ET & |
3. AU R AP R TTE |
4 AT AGIRTTS |

@ 1

() 2

3) 3

(@) 4

b2 =

1[Option ID=13357]
2[Option ID=13358]
3[Option ID=13359]
4[Option ID=13360]

Sl. No.141
QBID:5201041

While planning for higher education development in India in the twenty first century, the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

Mmoo we

Choose the correct answer from the options given below :

1. A B and E only
2.B.C,DandE only
3.A.C.,DandE only
4. B, C, and D only

1 1

(2) 2

(3) 3

(4) 4




=aH gl Uel 8 URd § 3= e & 9w & e & ey arfeel Rgial & Fafatad g= =ftw:

A, iy
B WA
C. gHE®

D. ITRalfdd

E. T[UaT

i feu e fosedl 1 9 wed SUgad Sk &1 99 SIE:

1. $aA A, B 3R E
2. %adAB, C,D 3R E
3. PAAA.C,D IR E
4.%adAB, C ARD
1

(2) 2

(3) 3

(4) 4

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika

2. Nirukta

3. Chhanda

4. Grihya Sutras
1)1

(2) 2

3) 3

(4) 4

fofafad 5 ¥ o9 3w gsfa gerd @ik aa gyt 9o vd fouem & oai mafsa g 2

1. JRd@HT
2. e
3.9g
4. 78 A
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=13365]
2[Option ID=13366]
3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

A

(1) 1
(2) 2
(3) 3
(4) 4




TS 2020 F SHTUR, ITHdl 3R 3o RI&T USId & SRS disi B1 a1 9ia<id ay 2025 I
TGS TR1&1 Y SR 8 2

1. AfFTEEarel &1 40%
2. JAfErTHH AT BT 50%
3. HferTEarst &1 35%
4. JAfEATHS AT BT 30%

1

(2 2

3) 3

(@) 4

1[Option ID=13369]

2[Option ID=13370]

3[Option ID=13371]
4[Option ID=13372]

Sl. No.144
QBID:5201044

Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. Aand Conly
3.Band C only
4, B and D only

(1) 1

(2) 2

(3) 3

(4) 4

fafeiad § 9 TR-URURS s &1 fa¥ivai &1H A § 2
A 1 FAfEd urea T8t

B. Rige-disd s

C. ANTd-UHTdl

D i SuRfd &1 SH1a=g® gHl

A= fgu arw Taeredt & & AEL SO @1 Taa Shilalu:

1. %ad A dR D
2. HAT A IR C
3. $PaaAB AR C
4. %adaB AR D

1

) 2

3) 3

(@) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of
India was established in the year :

1. 1906
2.1916
3.1964
4. 1961
@ 1




) 2
3) 3
(4) 4

T 0-UIied-uikeg e 3630 W ST &1 TR 3R YR faen da¢h srem= ot fafid amarsi
%@Wawwwmaﬂwm%%ﬁ?mamaﬂ?wmmﬁwmﬁ
or 2

. 1906
. 1916
. 1964
. 1961
(1) 1
) 2
(3) 3
(4) 4

b2 =

ER )

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

‘What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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What has been done to describe the role of online tutors?

. Add value to their guidance

. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors
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Read the following passage and answer the question :

‘What iz it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors. such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of eritical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here,
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What will inhibit student's contribution to tutorial discussions?

1. Too much contribution of the tutor
2. Disruption during tutorials
3. Internal divisions
4. Outside intervention
1)1
2) 2
3) 3
(4) 4
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor ¢an inhibit contributions by the students, The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The rhetoric of moderators has the intention to :

1. Displace teachers from teaching

2. Liberate students for their own learning
. Strengthen the authority of teachers

. Avoid critical pedagogy
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor ¢an inhibit contributions by the students, The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The discourse of participatory learning may result in:

1. Abandonment of the online tutorial system
2. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor ¢an inhibit contributions by the students, The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The passage iz an analysis of:

1. The traditional educational system
2. The new assessment methodology
Indian vocational education
Paradoxes of online tutoring.
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